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“Emotion is the exciting statc of a
person” is a concept of
(1) Piaget 2)
(3) Valentine 4)

The meaning of evaluation in the
academic devclopment is

Woodworth
Ross

(1) the assessment of the progress
of students.

(2) the assessment of class records.

(3) the assessmemt  of (ask-
performance. .

(4) the assessment of knowledge
power.

Prejudiced adolescent would be rigid
in his/her approach (o a
(I) problem (2)
(3) concept (4)

Four stages of cognitive development
— sensory motor, pre-operational,
concrete operational and formal
operauonal is identified by

(1) Hilgard (2) Sttot

(3) Hurlock (4) Piaget

life style
reality

Which characteristics are not of good

mental health 7 '

(1) Regular life, emotional maturity

(2) Self confidence, tolerance

(3) Too humble. confined to oneself

(4) Accepance of reality, self
evaluatinn zhiliny

Which of the :ellowing does not
influence Jearning ability ?

Herediy

(2) Environment

(3) Training Tcaching

(4) Naticnaliy

Which leaming psychologist has not
given imponance 10 Reward in the
development of child’s leaming ?
(1)  Thomdike (2) Pavlov
Skinner (4)  Guthrie
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A

P
Which of the followi :
inachild’s leamin g ? EAR e
(1) Imitation (2) Motivati

y Mouvation -
(3) School bag (4) Reward

Self-centric sta s plact A
s dur_mgge takes,place. among,
(1) Birthto 2 years of age
(2) 3&06yearsofage N
(3) 710 adolescence stacs
(4) adolescence Stage )

Taking imerest to  be amongst
playmates by going out of parenis
company 1s associated with ’

»

(1) Adolescence

(2) Pre-childhood

(3) Later childhood

(4) Infancy

First besic’ principle of isaming is
associaied with

(1) Practice of work

(2) Expectation of result

(3) Appreciation

{4} Readiness

Making efforts to reach tae height of
mexnial maturity is the indication of

(1) Adolescence " °

(2) Adulthood

(3) Early childhood

(4) Later childhood

The faciors infivencing leaming

procass are

(1) rmuation

(Z) rraise and crivcism

(31 competition g7

(4) allabove -

How -is motivation usefzl in the

learming of the child ? \ ¥

{1) Respecting individualizy of i
child

() Reward znd punishment

(3) Prase and critcism

Adlanove
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15. Which techmque do you not apply to

motivate studcnts for lcammg in lhe.

class-room ?
{H To mtabhsh : \healthy
" competition .- among V" the
students.
(2) To .make them feel self-
assertion. -

(3) To praise them too much. /
(4) To . opply- activity based
tcachmg-lcammg tx_mcthods

16. What type of coif::liﬁdn' has been
found between Intelligence and
Creativity ?

(1) Positive

(2) Negative
(3) Zero

(4) All above

17. What is the most effective method to
- maintain discipline in the class ?
(1) To expel indisciplined students

from the class. /
*  (2) To make teaching inferesting
and practical. - i

. (3)" To ; intimate guardians of

% (4). To provide special facilities to
i mdxsclplmcd students. N\,

£ sy 5

18. Infant ch.lld’s actions are

(1) mstmctwe

) [;)rotcclcd

(3) cognitive

(4) emotional
|
]

‘19 In which particular area teachers of

such ~schools where mclusnve y
.education is  imparted should
r specially be trained ?

(1) TIdentification of children with .
special needs and teaching.

(2) Teaching through lecture

! method. \ ;"

3) Action oriented tcachm,g

(4) None of the above. i
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20. Which of ‘the following groups of
children have adjustment problems ?

(1) Children of average intelligence
(2) Ruralchildren "\,

(3) Studious children

(4) -Genius children

If the teacher feels thar one of his
students who had been learning the
subject matter nicely is showing
stagnation. The teacher should

(1) take it as a natural stage of the
learning process.

teach the subject with clanty.
motivate the studext.

do remedial teaching.

21.

(2)
)
)

If a teacher wants to change the
disposition of a student of the class,
he will have to 4
deal with the student strictly.

(1)

(2) ask other students of ths class
to maintain non-noticezble
distance from him.

(3) change the disposition of all
‘the members of ks grouwp-

(4) ‘motivate the student towards
studies. -

Develop-me'nt’ﬁ;m'; ‘the same relation

23.

: with . maturity as stimulos has
it e | gy |
(1) change (2) responmse”
(3) = effort ' (4) resuh

24. Piaget is mainly known for his
contribution in the field of ___
(1) Janguage develooment
(2) cggnitive development
(3) moral deyelopm=nt
(4) social developrm=nt

25. “Whenever two Or mQre incividuals
come together and nfluexce one
another, they may be szid to
" constitute  a social group.” This
stalement is
(1) Partially rue
(2) ‘True N >
(3) Hardlytrue
(4) False
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26. Which of the follmving should, be

277

28.

29

30.

taken care.of well in the process of
-teaching ? | = -3 :

(1) Active paxiiqipéﬁon of students
(2) Discipline and regular attenddnce
(3) Sincerity in checking hogework
~ (4) Difficulty level of the subject

matter

From the following persons who is
helping the child/children in@s/thcir
intrinsic motivation ? %
(1) Father Robert gives chocolates
to students of his class who
behave properly. '

Nand Kumar gives story books
to his son on getting promotion
to the next class.

Girijesh Kumar floats 2 party
on the birthday of his son.
Rakesh Kumar praises his son
for securing highest~marks in
science subjects.

@

3).
(4)

has special importance in ‘

the social development of the child.
(1) -Play

(2) ‘Ghild literature

3) Da?]‘y routine

(4) Media -

Bhattia Battery is used to test which

of the following ? . a
1) Personality (2) Intelligence

(3) Creativity (4) Attitude

Kohlberg’s Theory of Development
is associated with

(1) Language Development

2 Cognitve Development

>(~3) Moral Development
(4) Social Development
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Candidates should answer the questions from the following part onlv il (e s —
for ENGLISH as LANGUAGE < 2. nly il they have opted

_ 6l

a()jjectcx\;e oof;godx 6. ‘The Castaway’ is a famous short
i slary written by which of the
. (2)  Bodily following atthor 9 - ‘hr
(3) CO]'pOreal (]) RuikinB 2
(4) All the above ' : ood
- e (2) Khushwant Singh
62. Asunstable as R (3) E.V.Lucas
3 water T Q) mule k K7} ‘RQindranath Tagore
() mercury.’  (4) air 70. Choose thé Synonym for the
63. Give one-word substitution ‘to the following word :
following : Derogatory
Life history of a man written by (I) Resolution (2) Solace
?li;nselB(i)s] called 3 Humiliating (4) Forlom
1blio h : L ‘\ " - - .
2 C?lligraphyy ! “fal.)mo‘(:snsxaug?:‘? Is written by which
(3) Biography i oY) ¢ “Munshi Premchand
| Autobiography - (2) Sarojini Naidu
64.  Change the following into passive vgice : (3) Jai Shankar Prasad
Rita wn'tes'a letter to him everyday. - . (4 RK.Laxman
(1) To him a letter was written by 72. In the given two sentences, select
Rita everyday, i ) from the answer choice the word
(2) A letter was written to him by which has the same meaning and car
Rita everyday. . be used in the same context.ag tHe
£3-) thlener 1S wrtten to him by underlined part of both the SC!]IEDCCS'
oty aey ; Rl =
(4) He is being written a letter by - @ The stadium is 50 large that it
- R.itaevcryday_ k) ; p , can&dmorelhanhvohmdx_ed
65. - " oy, e y » Spectators.. T | i EnT R
~*.ﬁfti:‘§hmr§v;h F gpug‘ymg.va? g @) - Mokan is willing to adjust his
Approving - ““Approval: & - tour programme accordigly.
(3) Approved ffi -_ﬁSvaes' . j (2) Hold~
66. Choose the correct Figure of Speecly - y Q) Amnge  (4) Give place
in the following sentence : ' - 73, Point out the Figure of Speech used
"Fair is foul and foul is fajy’ -~ inthe following sentence :
(1) Hyperbole 6’.’—3 Oxymoron - Integrity is the backbone of character.
(3) Metaphor  (4) Simile (1) ~ Simile 2 Meizphor
67. “r:]hjCh of the following was a (3) Apostwophe (4) Oxymoron
‘Nature Poet’ ? s i
(1) - Edgar Allen Poe 74. sF:r:?cn?: the manca]ly correct
& \Vgglléa.g:)y\};/:krdsworm (1) This is the road to go.
@) Walt Wit 2 (2) Letusaimtodogood.
, alyhitman: [ (3) Take down his addressdn ybur
68. Name the famous poet who wrote the copy.
fc;\l/l}c:wmg lines:.. . ‘ {#) - Iwrote 10 him yesterday.
“Where the mind is without fear and “ 2 { -
* thehead is held high....” - o e s ‘}Efwm';
- (1)~ Sarojini Naidu - T PpeRa el
(2) Toru Durt &

{3} Rabindranath Tagore
(4) John Milton -

(1) P.B.Shelley (2) JohnKeats

(3} JohnMilton (4) RobzxtFrost
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A ' 84. Find out the ffcorrect Senience - iy
pick out the mcorrc?tl)’ egt word & W) Isthis ml__—-y e, or is it yours 7
(1) Elucidate- %eg?:;e' (2) We got up at dawn and had:
(3) Exile. (O BN preakfast at eight o’clock. -
‘ : , il ,(2?)’ We have . a holiday = on
77. Pickout {he incorrectly spelt wo ? Christmas. =~ z
(1) Enunciate  (2) Gilfisle (4) Come back inan hour’s time.
(3) [Infallible - (#f  Instegate o
avith 85. Use {h% correct form of Verb, in the °
78. Complete the sepigece . following sentence :
appropriate word He in Allahabad for five
Your handwnting should be .~ e 5 <_*
(1) Intelligent &y~ lntelhigible 3(’1) s
3 Intellectual  (4) Introvert has been living
- 79. Give the propér relative Pronoun in 8% llji?/‘ilggbeen living
the following scr_ltence: A %o )
All___.___ghtteri)l;/pot gl 86. Choose the correct meaning 'of the
(1) Wthh that fonowing phrase: ¥
(3) who (4) whom, -Béck and ¢
.t - . g B (1) Cameto nothing
80. Fllnd out the approprialc meaning of " Under absolute control.
the given word () Under all conditions :/
Etymology @) Torebuke
1) Actfcr)fs%ngb]
(2) To free from ame for the
(3) , Likeness of a person 87. %gﬁn tgl:fvgggéct Antonyns for
(Af .A study of the ongin of words Expedite :
. 4 ook : 1) Hostile (2) Reluctant
1.  Find out the appropriale meanng of ( Cid
the given word : W Delay .4 Rz
Inimitable P A T T ey e :
(1) Incapable of being reached 88. Fill in %e _blank. with _the»icorrect
(2) Incapable of being believed Prepositidn, . -
@3y Incapable of being imitated- The Judge acquitted him the
(4) Alistof goods murder charge- - _
- . (1) off ) of
82. Choose one word for the following for (4) from
expression : . )
‘A lover df pankind’ 89. Fill in the blank with Past Perfect
(1) Theist Continuous Tense :
(2) , Veteran The doctor was very tired as he
Philapthropist alone. '
(4) Omnipotent {(.1) has worked
i ’ 2) had worked
83. . Find o"ll’l}tm the incorrect sem_en:_e: [ é}))/ h:d baen:vorking
he apples are growT n many (4) has been T
different countrics.  ° g
(2) Books are cssentzl 6 a .
student. 90. ' Find out the correct word of the askedf
(3) Chess is a pame whic? requires grammatical category of the given word V.
great patience. g “Adjective of Accent”
) (4) The Sharmas live 8 Elgjﬁ (1!6 Accenmuate )/ Accentual
Road. (3) Accenuated (4) Accentuation
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¥ -1 (2)_2, 3)-3 @) 3 €quation 2 %3412,

the value of x is '

. . £} =i 2) = = .
!Ifa‘aﬁ’w’;xz—Zax-r azﬁx+a§'ﬁm 92 -:fzhe expr(es)' 2x2 (3.'3 : 33(4) 3

.92, ) sion x* — + af |
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: ) £1 (3) 22 @) 3

93.- 11+ 24+3+....+ 10-50mam 93, tuevalug of 19243+, 4 10— 50;

M @5 ()10 () ss - M4 2rs g9 (@) 55

94. I oy x,x-.t-3,x+5,x+.7,.r+_10'$l 94. If the mean of the observations x,
9 ¥ wa et A Degot e &

x+3, x+ S5, x+ 7, x+ 10 is 9, then
mean of the last three observations is

l »

B % % (1) 103 (2) 10% (3)11% 4) 11%
s 3 mﬁ% | 5 7 ?%f " ":95 If dia nals of a ilateral bisect
HHERT G1 FR Ea 3 . C1agonals quadrilateral |
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1 2 ' &)
oty (»1)~ 1(5 4(2) e % Qi?-.”3f s 13
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(1) F+y'+2ry 2) R+y_xy (D) F+y+2y 2) R+y2_yy
B oy - . & . 3xy (3)  xy? @) 3xy
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P
diagonals that we can make from one

vertex of a n sided polygon is
M2+l " @) %
Q) 5n+2. . @) n-3

The marked price of an ‘aticle is
R _5p00. The sh allows a
distount of 5% and still eams a profit
of 25%. The cost price of the article is*

(1) 2280 - () 7225
(3) %425’ @ 380
Radhika bought a car for ¥ 2,50

Next year its price decreased by 10%
and in next year it further decreased
by 12%. In the two years overall -
decrease percent in the price of car is

1) 32% g;’ 2%
T @ 8%

The value of‘\1248 + '\}52 +1/144 is

()16 (4) 13

Suppose that the directions  are
rotated so that north points to where
south-east was_ mmtally. Which -

- direction does west point to 7

(1) North-West (2): South-West
(3) North-East (4) East

16% of 2 number when added to 21 gives
the number itself. Find the tumber. -
1) 81 (225 (3) 18 laxss

The averageA agéiofv;a' family of 5
embers is 20 years. The youngest

me. per is 10 years old.-What was

N - the dverage age e family when
o R = Sfed g ey sl o e ey o
) 10Ew (1) 10 years
2y 10 |96 e (2) 10 years 6 months
3) 12 99 6 Hel (3) 12 years 6 months
(4) 8SEy (s) 8 vears =
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18y,
/ ﬂﬁ@qﬂﬁwﬁfﬁm@ 811;331&’[?{@ 1 107 If the circumference of a circle is;
Wm : ezl e “;creai;pﬁl;gm 4mto 8; lhel? 1ltsz:ireals
HAMNMF 2 ; v alve
bj/?ﬁq'ﬂ % A @G quadruplcd 243 doubled
108. gfg yad n Wepd FEF H AL 15 3’ 108. Ifthe mean ofﬁrst n natural numbers
AnFAAE is 15, then the valuc of n is '
26 @27 (3)28 w)/zg (1) 26 27 (328 42
M
(09, U1 T HIAY S e %’fﬁ‘{ﬁﬁ ¥ 109. Find }he angle which is equal to its
AT : ; % - complement
(1) 90° . () 60° oy (1) 90, @) 6"
\93/ 45° (4) Wﬂ?ﬁsf{ﬁ (3) 43 (4) Noneofthese
+ J
ﬂfﬁ 3‘ —-c+d'\ﬁ% Src+ds 110. 1 ':;3?'3\}_—?’ 7, then the value
/0’ i 4\1— . k. . 4
w b N s Bl ~ ofc+dxs o
52 /52 51 MW 5 @i @i 103 ) mg
M) 103 Toa 37103 (4)
103 103 . 103 _1‘03 111. The vealue of .
. (70 G- V) +200 (6 +8) (f1-+8) +209
JYf 201 (2) 202 (30 (4199 (1) 201 (2)“202 (3)0 (419
/4 116 : " 112. The l=ast number among the numbers
\}Z/ F@TW '\[i (4)“3 (5)| (3) q mﬁ :\/_2_', (4)1/3’ (5)]/4’ (3)1/6
13 1 -

). *ﬁ @ @ M 2 @) @,
A3y G \9,)/(3)“6 = ] 3y (5 @ @)
faasa g, @2 113. If th= number 51324167 is divisible by B
113. WH@ISI?’%;?;;; , A ‘ then the laroastdlgltatmeplace"w'.llbe

\9/8 @6 @7 @9 y m s @6 QT @3

414. Twe natural numbers are in the ratio
\)'{21 H@Né 11 & FIE ﬁ;‘ : 6\: 11. If their L.CM. is 462, then
o e AW, 462 |, W TR AH their H.CF.is
17 @5 )66 @7 1T @S (e @7
P ekt B R B - e
. 1 TW( f
v T E |zxﬁa'gaﬂ WA, the age of elder ongxs 23 years, then
?ﬁiﬂ%iﬁﬂﬁm% » ac= of younger may be
(1) gad © = - (2) ‘1299 (Iy 8years (2) 12 years
b@/lgad @) 21 aq (3) 18 vears (4) ?.l years
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117. n & faum qiies 3 w Frerae sl
T H T Y [UE § 2
(1) 3n-38 ) 5nZ+4
B 3n2+5 (4) 4n?+S
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9) P
' 116.\‘ If sum of any two natural numbers is—
48, Then the mumbers cannot be in

the ratio g :
(1) 3:5 2)-537"
(3) 2:6 @ 2:5

117. For n being an edd integer\v,high 9{1c

- a Ny
of the following numbers 1s an even

integer 7
(1) 3n-8 (2) Snt4
(3) 3n?+5 (4) . 4n*+S5

, 1 . !
118. Kzjol reads 3 parnt ofaboo}m\gl haur.

1
She reads this book 23 hours. How much

part of this book will remain to read
1 1

A () 5 @ 3
4

&) 15 @ 5

11;).

If  is subtracted from a number and
- -~1 E
then it is multiplied by 5> the number
e :

converts mtO's* The number is

- Bl S - sl L&
(1) L@ R

NOWE:

The sum of two digits of a number
consisting of two digits is 9. If 27 is
added to the number, digits are
reversed. The number is

(i) 54 @ 27

| da =W

3)

120.

3) 63 (4) 36
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121, Freieiad T Tl § /T s
1 HIE AE G T € 2
(1 e (2)
- T (4) e
122. fwelt =1 % WENUT TR/ S A A
(1) ATP (2) STP. =
BOD (4) WPL

123. TR THEEO W B e I €
(1) 2T (2) =
la> g cat (4) - TERA
124. WRA § F F wwlad S S HEH

. g T T & -
(1) «mEE - (2) 3
s Wa%mﬁavz"r‘;/ﬁ%ﬂ%
125. TgRUEA WA HAWE?
4 1) AEES Ly TaEvEd
£ IRl (4) FEFHISA

] hﬂﬁ@ﬁﬁﬁwﬁt@ﬁqmﬁa%?

(2) ]
(3) , A
Hie
127, S TN TR &
. 1973 : 23 1982
3) 1992 (4) 1996
128 qmmawaamm?—w‘t@ré!wazﬁ%
a‘xlso"ﬁ:ﬁ%ﬂ(mxﬁmqrf@é’f%v
Y - fafar T
(2) FHE
(3) fagEaEr |
(4) W FEERR &
99. frefaa § 9 fag 199 7 TF A
= A T Ui E 2
(1), TR, e
27 Ay
(3) HAsHHEM
) wiesH FIA ‘
130, TETE-2011 F En W A
' W%’ o$ ¥ TR
q 940 : 1000 (23 916 : 1000..
() 920:1000  (4) 982:1000
131, Gfeten o fee g Tl @ fEea
)y @ - R¥ Fg
(3) WEEE - (4).. faqet
! . :

;1‘21.'

122.

123.

124.

125.

126.

127.

128.

125,

Out of the following Indian Statéd;
which \State does not have any
marntme boundary ?

(1)  Gujarat (2) Goa
(3) Rajasthan  (4) Maharashtra
The pollution level of a River is

measured :

, %lg _ATP 2) STP
3) BOD §4; WPL ~
The Disease that is caused by Virus is
(1) Typhod (2) Cholera
(3) Common cold (4) Malaria
The most important clement of weather
" affecting agriculture in India is :
(1) Temperature (2) Humidity
(3) Wind (4) Rainfall
Which is the coldest layer of
mos%here? |
i hermosphere (2) Mesosgh
(3) Troposphere (4) Ionosphere
Which of the _following\ is a
creenhouse gas ?
(1 Sulphur dioxide
(2) Oxygen
3). Argon
(4) Methane .
Project Tiger was launched in India :
' glg 197 2) 1982
3) 1992 - (4) 1996 .
The imaginary line on_the Earth’s
curface which closely follows 180°
Meridian is called : v
(1) Intematicnal date line
(2)  Tropic of Cancer
(3) [Equator
(4) Prme Mernidian .
In which of the following State Gulf
of Mannar Marine National Park 1s
situated ? -
(1) Gujarat !
(2) Tamil Nadu
(3) Andaman Island -
(4) West Bengal
. According to Census-2011 ‘the sex-
ratio of India is : y
(1) 940:1000 (2) 916:1000
(3) 920:1000 -'(4) 982°: 1000
. Which of the following animals is

called farmer’s friend 2 < -
(1) Ant . (2) Earthworm
(3) Bee (4)  Butterfly
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132. W F mR F fAr R | 132 To e et K
: 2. sk ca o
W’ﬁ"ﬁhmmw@%? p g;?:d?mm,ﬂl‘wﬁdlﬁis
2 i A th Chipko Movement; ?
(1) 3WRT (2) FREE (1) Uttar Pradesh (2) . :
&3 swrEve (4) ouEwE -(3) Uttarakhand - (4) m
133. Sftat & saer @1 s frar T & - 133. Study of behaviou ;
: X cha ; :
() e () P studiedin: o OrAumals is.
NB) T () e AR
a : Y
134, T Yiaer forrent mevargot s & 2 134 Sea Weeds is the chief source of -
(1), =R Y (2) @i (1) Chlorine  (2) B"‘EFX
‘@{ Jgite 4) F‘ﬁﬂ - (3) _Iodme (4) Iron
135. ¥ (FM5%A) § : 135, Lichens are :
(1) wiat (1) Parasites
(2) A @G (2) Chemaautotrophs
(3) . SAvEesH (3) Decomposers
f Wt ‘ () Symbionts
136. TS 1 07 & & F e gewe 136, CN.G. isused as a fuel in;
2?'?? . ' B b (1) Vehicles
B q : .
=y 5
(), EATRT e
{‘ ﬁq_a‘ S : (4) . Vehicles and Industries
137. GSiaxor ST @t IEx:c 13‘7.’- Environment Awareness can be
fear st wsa €2 fa v d e created by : 3
(1) .==mH (1) Lecture’
& 8 wor (2) Field visit - .- .
()" e an - (3) Group Discussion .
(@) s ] BT g g g ey |
138. LP.G. feat wiftra ww ¥ 7 <138, The abbreviation of L.P.G. stais for
(1) i 9s Ty " (1) Low Paid Games .
(2) e W= TR (2) Local Passenger Gadi
Y Tfraume vt i () Liguefied Petroleam Gas
(&) = SPifeas T (¢) Local Petroleum Gas
139. 3= “Tx\qé'u”"-] q e HoE T e 139. Ozone. Jayer absorbs which rays
fezoti =t aravifaa Fat & 2 y  before reaching the Earth ? '
(1) = feror (2) uaw faot ! (i) Cammarays (2) X-rays
| N AT R (4)  ter faot (3) Ulmeviolet rays (4) Betarays
140. I57TRE WANAI €, WifeaE - . - 140. Batis a_m_amma],becauseit:
- (1) e (2) wEWEL X ((.%)) ?czgfumal
(3) YERRIE | 3 (3} Vegetarian
g meS R (3 Gioes birth to babics

141. Environment is defined as:
(1) Abiotic and Biotic
(2) Things on the Earth
lavel &
(3) Things which surround us
(¢) None of the above

t
seaf
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22) - g
ﬁ‘fﬁf@a aﬁ\'ﬁ'ﬁ’l‘q FE | w 142. Which of the followmg International §
mmuﬁtmﬁa%o Organisations ‘is dedicated to the ;
. UNFPAT * (2) UNDp - ~ cause of wildlife conservation ? i
® UNESCO (9 WHO (D" UNFRA.: @) UNDB
ot (4 WHO" {
143. FA T F Y Ao & ﬁ:"\' Wlﬁ 143. The chemical used for)cloud seeding 1
T ® *. for artificial rain is i
4 ) fﬂ"v‘q'wsaz i . (1) Silver Nitrate
K (2): ufrm smss ! " (2) - Potassium Bromide 'i
Of et smareRe (3) Silver Iodide '
(4) wefan AT ; (4) Potassium Nitrate
144. OIS o T S 144. Biodiesel is prepared from
() FEhFaram \.(7/ Tr@m (1) Utricularia (2) Jatropha
@) /W (4) gwfaew (3) Cedar ~ (4) Eucalyps
145. fava s feaw v s & s 145. The World Ozone Day is cclebrated on
1) - 219 @ 16 famm (1) 21 March  (2) 16 September
© (3) 25 3™ @) ssF (3) 25 April (4) 5 June
146. e WA § 146. Silviculture is related to
T @ 91 IR " (1) Forest and forest product
Q) foew (2) Silkk
(3 F (3) Flowers
(4).-1’ 3&@; (4) Fertilizcrs
147. Bt | ) e A aa*m 147. C andraprabha Wildlife Sanctua.r\ is
B e R thece R e ) = sftuated in which of the following
7 District 2 .
(), v '3"@‘“ _ G LkniBput N
| (2) Chandauli
@) wETS . (3) Lucknow n
(4) arwREh ' ’(4) Varanasi Yow
148. Frfafan & == e oo =01 sor 148. Which one of the following is =
9 secondary consumer ?
(1) e \,)}/—’m i (1) .Elephant (2) Snake
(3) m (@) == ¢ (3) Lion (4) Go:{t
149, s{qﬁ?ﬁ & ;}5149. Jhum Cultivation is practised in -
(1) (P TR (1) Kerala (2) Bihar
3y wuwg (4) afEATg .~ () Meghalaya (4) Tamil Nadu
- 150, Y=F % femm S v 2 0 ' 150. Dry Ice is the solid form of :
(1) 3t © (1) Ammonia .
e} WTQS’WT’T (2) Carbon dioxidc
() ARgEA (3) Nitrogen
(4) ' e - (4) Oxygen
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